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2/5 2/6 2/1 2/8 2/9
P A—/A—5f | A==t | A5 | A—/S—5# | A—ri—

R CRE) =K%

R CRE) %

R

1

EY

R CRE)=RKi&

R CRE) #

R

R CRE)=#EX

RRCAE)F [ J

LI

AR

[RARARARARERN

RR(PE)-ERS

R CRE) #

ERBR

65 (R ED) =ALIR (B T | 2 () 34

FLIR (3 %) 5

AR GRFR)=lE

was
FLIR (B F %) 5 10.900 10.900
8.500 8.500
8,500 8,500
16,100 16,100 16,100
55 5.900 16,100 16.100 16,100

15,900

JAL



IR—N—%BIEERCAI~TEEES)

EEBEAB 2018/10/25 ~
3/1-1
P Z—N—5%15
ERE
HR (FE) =AU (T F )| RRCAE) % ,;gg 3,400, H:10.700
100
300
300
700
700
800
800
1400
1400
800
800
.000
,000
.000
200
LR (BT F %) 54 55 .500
55 000
55 000
55 200
55 300
55 400
55 400
55 300 | 69% |JK:11.700. %:15.300. £:13.700. H:15.900
55 000 | 65% | AK:13.600, %:17.200. £:13.900, H:16.400
55 100 | 65% |t
55 .900 | 68% |&:
55 .900 | 68%
55 .900 | 68%
55 .000 | 70%
55 .000 | 70%
55 100 | 72%
55 100 | 72% ,300. H:13.300
RRCHE)=ES R (PE) R |_J 55 200 | 70% 700, £ H:12.100, £:12.600
55 400 | 58% |+ H:13.500
55 400 | 58%
55 600 | 61%
55 900 | 65% [ Xl .
55 100 | 67% | KIKA:11.200
55 400 | 64% 2500, £:13.900. £:12.500
55 400 | 64% 2500, £:13.900. £:12.500
LB 55 700 | 68% 3:12.400. £:12.900
55 900 | 62% |+ H:13.500
55 200 | 70% 1,900, £ H:11.600
55 200 | 70% |2 H:11.600
55 1200 | _70% ]
55 400 | 64%
55 900 | 60%
55 900 | 60%
RR(CRE) =R ERCRE)S | J 55 -200 74%
55 100 | 72%
55 400 | 67% 2.100
55 400 | 69% X 100
55 400 | 69% 900, N 100
55 400 | 69% 800, £:13.900. H:14.700
55 300 | 69% 6. 12700, H:15.100
55 100 | 68% 7.900. H:16.200
AR 55 400 | 69%
55 800 | 64% _£:16.300. H:14.100
55 100 | 68% 600, £:14.800
55 200 | 70% [ B 900, %:13.000. H:14.800
55 200 | 70% [ A 900, +:13.000. H:15.200
55 400 | 69% |4
55 400 | 69%
55 200 | 70% £:16.500. H:15.300
RR(CPR)-ERE | RRCHE) R 55 9.000 80% 9,500, £:10.900. H:9.100
55 9.400 80% :9.900. F:10.900
55 9.900 79% :10.400. +:11.400
55 10.900 | 76% :11.300, H:11.400
55 400 80% 9.900
55 900 79% |t H:10.400
55 400 80% :10.900. £:9.900
55 400 80% :10,900, £:9,900
BRER 55 100 80% :9,600, F:10,600
55 10900 | 76% [%:11,300. £ H:11,400
55 9,400 80% £ H:9.900
55 9,900 79% t H:10,400
55 11,300 | 75% [J:11,400, 211,900, H:14,900
55 9,900 79% +£:10.400, H:11.400
55 9,400 80% :10.900, +:9,900
55 9,400 80% :10.900, +:9,900

JAL
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EEBEAB 2018/10/25 ~
3/8-14
P Z—N—5%15
B &
HR (FE) =AU (T F )| RRCAE) % ,;gg 3,400, H:10.700
100
300
300
700
700
800
800
1400
1400
800
800
.000
,000
.000
200
LR (BT F %) 54 55 .500
55 000
55 000
55 200
55 300
55 400
55 400
55 300 700, %:15.300. £:13.700. H:15.900
55 .000 600, %:17.200. £:13.900, H:16.400
55 100 N 200, +:13.900. H:16.400
55 900
55 .900
55 .900
55 000
55 000
55 2100
55 1100 ,300. H:13.300
RRCHE)=ES R CHE) % | J 55 200 700, £ H:12.100, £:12.600
55 400 | 58% |+ H:13.500
55 400 | 58%
55 600 | 61%
55 900 | 65% [ Xl .
55 100 | 67% | KIKA:11.200
55 400 | 64% 2500, £:13.900. £:12.500
55 400 | 64% 2500, £:13.900. £:12.500
LB 55 700 | 68% 3:12.400. £:12.900
55 900 | 62% |+ H:13.500
55 200 | 70% 1,900, £ H:11.600
55 200 | 70% |2 H:11.600
55 1200 | _70% ]
55 400 | 64%
55 900 | 60%
55 900 | 60%
RR(CRE)=K5 ERCRE)S | J 55 .500 1%
55 900 | 65%
55 400 | 66% | A
55 .100 7
55 .000 7% |H:
55 .000 7% A
KH5 55 000 7% | A
55 000 7% | A4,
55 .100 7 +:
55 .100 7 +
55 500 3
55 400 |66
RR(CRE) =R ERCRE)F | J 55 -200 74%
55 100 | 72%
55 600 | 67% |4
55 400 | 67% |
55 400 | 67% |
55 100 | 68% |4 .
55 700 | 69% [B 6.100. H:15.900
55 600 | 67% [A 7900, £:14.100. H:16.800
AR 55 400 | 67% |4
55 800 | 64% K
55 100 | 66%
55 ,200 67%
Lf 55 ,200 67%
Lf 55 ,100 68% 6,500, B 300
Lf 55 ,100 68% 7,700, H:16.300
Lf 55 ,200 67% 7,200, H:16.300
R CAE)-ERE | Rm GAE) 3 | _JL 55 9000 | 80% 00, B:9,100
L 55 9,400 80% :9,900, F:10,900
L 55 9,900 79% 110,400, £:11.400
L 55 10900 | 76% :11,400, £:12,300
55 400 80% 9,900
55 ,.900 79% + H:10,400
55 400 80% :10,900, :9.900
55 400 80% :10,900, £:9,900
BRER L 55 100 80% :9.600, F:10,600
L 55 10900 | 76% :11,400
Lf 55 9,400 80% 9,900
Lf 55 9,900 79% 10,400
55 11400 | 75% 900, H:14,900
55 9,900 79% 400, H:11,400
55 9,400 80% ,900, +:9,900
55 9,400 80% ,900, +:9,900

JAL
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3/15-20
XF e A——5%8
EAR | a3 ooic
RECRE) =R (FF&)| Rx(HE) % 100 70% £
600 | 68% [A:
900 | 68%
200 | 64%
200 | 64%
600 | 63%
600 | 63%
900 | 68%
900 | 68%
200 | 69%
200 | 69%
900 | 68%
900 | 68%
100 | 67%
000 |_65%
000 |_65%
300 |_67%
LR (BT F %) 54 .300 62%
900 | 58%
900 | 58%
200 | 50% . 0. B2,
200 | 62% 300, %:16.200, H:13.800
200 | 69% 400, %:16.000, %:15.000. H:14.200
200 | 69% 000, & H:14.700
700 | 68% 400, E:14.600. H:16.300
500 | 64% +17.700. *:14.700. H:16.400
500 | 64%
.900 | _65%
900 | 65%
.900 | 65%
100 |_67%
100 |_67%
100 | 70%
100 | 70% 3.800
HR(PE)=LEES ERCEE) R J 400 66% f:13.200
200 | 56% :13.500. H:13.200
200 | 56% :13.500
800 | 57% :13.500
400 | 64% } ]
700 | 66% 500, %k 7K:12.400
300 | 61% 500, H:13.500, %:14.200. £:12.500
300 | 61% 13.500, %:14.200. £:12.500
RB% 100 | 65% 3.000. :13.500
300 | 61% | 3:13.500
700 | 66% 2.400
700 | 66% :12.400
400 |_66% 2.700. B:13.100
800 | 60%
800 | 57%
800 | 57% |4
RR(CRE) =R ERCRE)S | J 200 72% k-
100 | 70% [K:
900 | 61%
300 | 66% |k
300 | 65% |k
400 | 65% [A
900 | 64% |k
100 | 63% |k
AR 100 | 65% |k
300 | _60% [A
100 | 63% |k
400 | 65% |k
400 | 65% |k
400 | 65% |
400 | _65% |
300 | _65% |4
RRCAB)-ERS | Rm(HE) % 9.000 80%
9.400 80% .
9.900 79% | 0.400. £:11.400
10900 | 76% |71 +11.400. £:13.300
9.900 79% [AY
10400 | 77% [AUk: .
9.400 80% _|J :10.900. £:0.900
9,400 80% | 0900, :9.900
ERB3R 9,100 80% | K: 600, F:10,600
11,400 | 75% [A2
9,900 79% p
10400 | 77% [A»
11400 | 75% |7
9,900 79% |7}
9,400 80% |/
9,400 80% ]
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3/25-30
=40} - Z—N—5%15
mmsm |E—
EAR | a3 ooic
RECRE) =R (FF&)| Rx(HE) % 100 70% £
600 | 68% [A:
300 | 67%
600 | 63% 0. £:19.
600 | 63% 6.700. :18.700
000 | 62% 7.700. £:18,
800 | 63% 400 £:18.200
900 | 68%
900 | 68% :
500 | 69% 700 %:13.300. £:12.900
500 | 69% 700, %:13.300, £:12.900
900 | 68%
900 | 68%
100 | 67% 2.900
000 |_65% 2.900
000 |_65% 2.900
300 |_67% 2.500
LR B Fa) A _J 700 | 61% 6.000_ % 1:16.800
400 | 56% t:18.000
7400 | 56% 8.000
700 | 58%
600 | 61%
500 | 69% 300 £.15.400
500 | 69% 100
100 | 67% 600, %:17.400. E:15.000
900 | 63% 7.900. %:15.100
900 | 63% 7.900. :15.100
.900 | _65%
900 | 65%
.900 | 65%
100 |_67%
100 |_67%
100 | 70% L
100 | 70% 700, %:14.400
RRCHE)=ES RRCHE) % [ J 400 | 66% 200, A%:12.700. £:10.000
700 | 56% 900 F:13.500
700 | 58% | %
300 | 50%
400 | 66% :13.400. :11.600
400 | 66% 3400, £:11.600
800 | 63%
800 | 63%
RB% 000 | 65%
300 | 61% | %
400 | 66%
400 | 66%
400 |_66%
800 | 60%
300 | 50% |4
800 | 57% [f:12.
RR CHE)=REA R CAE) 5 [_J 200 | 72% [HA&:
100 |_70% |H4
400 | 62%
400 | 65%
400 | 65% . E:16.
400 | 65% A:15.100 %:15.700
200 | 65% 5.700. %:16.800. £:15.100
100 | 65% 5.700. %:17.900
AR 400 | 65%
800 | 61%
400 | 65%
400 | 65%
400 | 65%
100 | 65%
100 | 65%
700 | 64%
RRCAB)-ERS | Rm(HE) % 9.600 79%
400 | 77%
900 | 76%
900 | _74%
400 | 77%
900 | 76%
400 | 77%
400 7% 2,400, £:11,400
ERB3R 100 |_76%
900 |_72%
400 | 75%
900 | 74%
,400 71% [ K7kK:13,300
900 | 74%
400 | 75% |%:12,400
400 | 75% |£:12,400

JAL



%

EEEAR 2018/10/25 ~
=40] A==
&
HR (FE) =AU (T F )| RRCAE) % 14.400
14.900
15.900

LR (BT F %) 54 A
55 700
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55 100
55 600
55 200
55 200
55 400
55 700
55 700
55 900
55 900
55 900
55 100
55 100
55 100
55 100
KR (75 =18/ KB (FH % | J 55 .700
55 700
55 600
55 400
[EEES 55 .700
55 700
55 200
55 200
FR(CRA) ERCPE)F | J 55 .800
55 600
55 600
55 600
55 600
55 600
55 800
55 200
AR 55 600
55 600
55 600
55 000
L 55 000
L 55 900
L 55 900
L 55 400
ERCPE)-ERS RERCRE) % L 55 .600
L 55 400
L 55 900
L 55 .900
55 400
55 900
55 400
55 400
ERB% L 55 100
L 55 .900
L 55 400
L 55 900
55 400
55 900
55 400
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1/8-10
= @z | T8 AR
BARIR ERE [
T | #EIE "
BRCRE)=ki#E5] RERCPE) % 9.700 79%
10100 | 78%
10900 | 76%
ESthTE 11.100 | 76%
700 | _79%
700 | 8i%
R (AE) =TIl RRAE) R | J 500 | 79%
500 | 79%
10400 | 77%
10.600 | 76% [7K:11.600. A:10.800
JCIITED 500 79%
700 80% | X:9.200
300 79%
900 80%
IR CRE) =8I FR (FE) R 500 78%
7 700 | 73% |7K:13.000. A:12.600
7 200 | 77%
ElEES 7 .200 77%
7 400 | 76% | K:11.500
7 800
FR CRE)=EfE ERCPE)F | J 7 11.200
7 8.400
7 100
W 7 100
7 500
7 400
FR(CRE)=X5 ERCPE)SR | J 7 .000
7 800
7 800
7 800
7 000 | 70% | A:11.800
7 600 | 71%
PE] 7 200 | 69% [JK:11.600, A:11.800
7 200 | 69% [JK:12.000, A:12.100
7 800 | 70% |12,
7 800 | 70% | X:12.000
7 800 | 70%
7 800 | 70%
FR(CRA) ERCPE)F | J 7 500 74% | K:11.000
7 400 | 72% | A:11.500
7 000 | 73% [7K:11.100. A:12.000
7 800 | 7 X:11.700
7 800 | 7 X:11.700
7 600 | 7
7 500 | 72% |K:11.700
7 800 | 71% |7K:12.200. A:12.000
REARR 7 .800 7 K12,
7 200 | 70% _|7K:12,000. A:11.900
7 000 | 7 K12,
7 000 | 71% |7K:11.500. A:11.700
L 7 800 | 7 X:12.000
L 7 800 | 7 :12.000
L 7 600 | 7 :12.000
L 7 400 | 72% |7K:12,000. A:11.600
ERCPAE)-ERS RERCRE) % L 7 700 8
L 7 900 80%
L 7 400 78%
L 7 600 78%
[ Jteag | 7 900 80%
[ Jtesi | 7 400 78%
[ JLes3 | 7 900 80%
L655 | 7 .900 80%
ERBR L 7! .000 79% | AK:8.800
L 7 600 78%
L 7 900 80%
L 7 400 78%
7 600 78%
[Jres0 | 7 900 80%
[ Jte52 | 7 400 78%
L654 | 7 400 78%
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EEBEAB 2018/10/25 ~
1/15-21
=R B4 FH YRS ER
BAMAR [~y ® =
il L "
BRCRE)=ki#E5] HR(PE)F .000 78% [+:11.200, B:11.100
400 | 77% |+:11.600. H:11.500
.900 | 76% 000, £:12.100, H:11.400
LHBIT 100 |_76% 0
700 79%
.200 80% :9.300. B:10.200
R (RE) =He Il ERPE) %[ J 500 79% 800, H:9.200
500 | 79% |&: 112,500
10400 | 77% [%: :10.300, H:11.600
11.600 | 74% pY £:10.800
JIES 500 % &t 3:10
700 80% 10,
.300 79% 0. B:11.500
.900 80% . 100, B:11.100
IR CRE) =8I RRCRE) £ 500 78% | +:12.000
7 11700 | 73% [7K:13.000. A%:12.600. £:14.900. H:11.100
7 700 78% |&+£:10100. H:10.500
I3 7 10200 | 77%
7 10400 | 76% |4
7 800 78% | A:10. X
RE (PE)=EHE TR(PE)E [ J 7 11.200 | 68% [£:11.500. 10.600
7 8.400 76% _|7K:8.500, ££:9.00 9.900
7 100 | 66% |&: 00. H:13.600
EHEER 7 600 | 64% |4
7 000 | 69% [+:10.100, ,000
7 400 | 65% |7K:12.900. £:12.200, H:14.900
RE(PE)=LES TR(PE)E [ J 7 700 | 69% |AZH:11.000. £:11.100
7 300 | 59% [E£H:11.100
7 300 | 59% [+£H:11.100
7 900 | 60% [+ H:11.100
7 8,000 77%
7 000 | 68% | K7KA:10.700
7 300 | 64% |H:10.100. £:12.800, £:10.100
7 300 | 64% |B:10.100. £:12.800, £:10.100
LB% 7 100 | 68% |%:11.300
7 800 | 63% [+ H:11.100
7 700 | 69% |%:10.800. £ H:10.500
7 8.000 77%
7 700 | 69% 1,500, B:11.10
7 500 | 64% |%:14.300. £H:11.100
7 .800 | 60% |%:14.300. £H:11.100
7 800 | 60% 4300, £ B:11.100
FR(CRE)=X5 RRPE)F [ J 7 9.900 75%
7 800 | 70% 12.000, £:13.800
7 800 | 70% 12000, %:13.800
7 800 | 70% |%+:12.000. H:12.200
7 800 | 70% 2,500, 7K:12,000. %:13.100. H:14.100
7 600 | 71% |HZ H:13.800
KPH 7 600 | 71% |4
7 000 | 70% [A:
7 800 | 70% |k
7 800 | 70% |
7 800 | 70% |
7 800 | 70% |
RR(CRR)=RIK ERCPE)F | J 7 -400 74% |t
7 600 | 71%
7 800 | 7
7 800 | 7 B
7 800 | 7 B
7 600 | 7 A:
R&% 7 600 | 7 A:
7 800 | 7 A:
L 7 000 | 7 X
L 7 000 | 7 A: 600, :12.600. £:13.300. H:14.300
L 7 000 | 7 A: 600, :12.600. £:13.300. H:14.300
L 7 400 | 7 100, H:13.200
FR(CRE) =R RECPHE) % [_JL62 7 .000 7 &
[ JL625 | 7 500 | 7 E
[ JL627 | 7 100 | 7 7 700, £:13.300
[ JL629 | 7 800 | 7 E :13.100
L631 | 7 800 | 7 :13.100
[ JL633 | 7 600 | 7 12.200 _
L637 | 7 500 | 7 B -700. %:13.300, H:13.700
L639 | 7 000 | 7 A 800, 7K:12,200, £:14,100. H:14,300
FEAR | _JL622 | 7 800 | 7 200, +:14,000
[ JL624 | 7 300 | 68% |B 000, :11,900, £:13,600. F:13,800
[ JL626 | 7 300 | 68% |B ,000, £:13.800
L628 | 7 700 7 B ,500, 12,200, H:13,700
L 7 000 | 7 J 1800, %:12,200, H:13,700
L 7 800 | 7 P 100
L 7 600 | 7 4 3,900
L 7 000 | 7 4  B:13,500
RE(CRR)=515 FR(CRE) % |_JL68 ik .000 76 =+:9.900, H:9.200
[ U689 | 7 800 | 71
[ L6t | 7 800 | 71
[ JL693 | 7 9,300 77% _|E
[ JL695 | 7 800 | 71% A 3,100, H:14.100
L697 | 7 800 | 71% |4 3,800, H:14,300
BB | _JL6s8 | 7 600 | 69% |A 11,800, £:14.100
[ JL6%0 | 7 800 | 71 : 9,300, H:8,300
[ JL692 | 7 800 | 71 12,01
[ JL694 | 7 800 | 71 :12,000, X £:12,600. H:13.600
[ JL6%6 | 7 9,300 77 :14,100
L698 | 7 12,000 [ 71% [X:12600, A&+:11,800, £:12.200, H:13.800
RRCPAE)=-ERE RERCPE) % L641 7 700 80 +:9.900
L643 | 7 ,900 80%
L645 | 7 400 78%
L647 | 7 600 78%
[ JL649 | 7 ,900 80%
[ JLes1 | 7 400 78%
[ JL653 | 7 ,900 80%
L655 | 7 ,900 80%
ERER L 7 ,800 80%
L 7 600 78%
L 7 ,900 80%
L 7 400 78%
L 7 600 78% | k:10,600, H:11,600
[ JL650 | 7 ,900 80% ,900
[ JLes2 | 7 400 78% :10,400
L654 | 7 400 78% :10,400
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1/22-31
FH YRS ER
B B | AR [ g [HEE e
il L "
BRCRE)=ki#E5] HR(PE)F .000 78% [+:11.200, B:11.100
400 | 77% |+:11.600. H:11.500
.900 | 76% 000, £:12.100, H:11.400
LHBIT 100 |_76% 0
700 79% 600
.200 80% 400, +:9.300, H:10.200
R (RE) =He Il TERPE)E[J 500 79% | %:9.700, £:10.800. H:9.200
500 | 79% |£:12.200. £:12.500
10400 | 77% [%:11.300. £:10.300. H:11.600
11.600 | 74% (10,600, +:10.800
JEIES 500 9% | A H:10.000, £+£:9.700
700 80% 200, % +:8.800, H:10.900
.300 79% 700, +:8.500, H:11.500
.900 80% 300, £:8.100, H:11.100
R CRE) =8I RRCRE) £ 500 78% [F:12,
7 11700 | 73% [7K:13.000. :13.900. £:12.600. £:14.900. H:11.100
7 700 78% |&+:10100. H:10.500
I3 7 700 | 75% |2 +:11.400. H:10.600
7 400 | 76% | 0, £ 111,600, B:11.100
7 300 | 76% |4 00
FR CRE)=EfE RRPE)F [ J 7 .200 68% |2
7 8.400 76% |7
7 100 | 66% |
EHEER 7 600 | 64% |4
7 000 | 69% |+:10.100. H:13.000
7 400 | 65% |/KA:12.900, £:12.200, H:14.900
RE(PE)=LES TR(PE)E [ J 7 700 | 69% |AZH:11.000. £:11.100
7 300 | 59% [E£H:11.100
7 300 | 59% [+£H:11.100
7 900 | 60% [+ H:11.100
7 8,000 77%
7 000 | 68% | K7KA:10.700
7 300 | 64% |H:10.100. £:12.800, £:10.100
7 300 | 64% |B:10.100. £:12.800, £:10.100
LB% 7 100 | 68% |%:11.300
7 800 | 63% [+ H:11.100
7 700 | 69% |%:10.800. £ H:10.500
7 8.000
7 700 500, H:11.10
7 500 114.300, £ B:11.100
7 800 114.300, £ B:11.100
7 800 300 £ B:11.100
FR(CRE)=X5 RRPE)F [ J 7 9.900
7 800
7 1800
7 1800
7 500
7 600
K55 7 1600 1800, %:12.800. £:13.300
7 000 200, %:12.800. F:13.600
7 1800 100
7 1800 )
7 1800 .200. H:13.600
7 1800 .200. H:13.600
RR(CRR)=RIK ERCPE)F | J 7 .400 .200
7 600 ,000. 7K:12.200. £:13.300. £:13.700. H:11.800
7 800 | 7 E3 14.300, H:13.100
7 800 | 7 ZES
7 800 | 7 Z
7 600 | 7 Z
R&% 7 600 | 7 A:
7 800 | 7 A:
L 7 800 | 7 ZE
L 7 000 | 7 A:
L 7 000 | 7 Z
L 7 400 | 7 4
FR(CRE) =R FR(CRE) % |_JL62 7 -000 7 E:
[ JL625 | 7 500 | 7 E
[ JL627 | 7 100 | 7 7
[ JL629 | 7 800 | 7 2
L631 | 7 800 | 7
[ JL633 | 7 600 | 7 13.900. £:14.300, H:12.200
L637 | 7 500 | 7 B K:11.700. :12.000. %:13.300. H:13.700
L639 | 7 ,000 7 B 800, 7K:12,200, %:14,100, H:14,300
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300 | 64% |H:10.100. %:12.800, £:10.100
300 | 64% |B:10.100. £:12.800, £:10.100
LEB% 1100 68% +11.300
7 800 | 63% | H:11.100
7 700 | 69% |%:10.800. £ H:10.500
7 8.000
7 700 1.10
7 800 3:11.100
7 800
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FR(CRE)=K5 RRPE)F [ J 7 9.900
7 800
7 800
7 800
7 000
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7 800
7 800
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[ Jte52 | 7 400 78%
654 | 7 400 78%
KR () =HF&K KB (5 % | _JL2151 | 7 .000 78%
JL2153 | 7 700 76%
JL2157 | 7 700 76% | H:10.700
BHR JL2152 | 7 700 76%
L2154 | 7 700 76%
JL2158 | 7 .000 78%
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LB .100 70% 1:11.300, £:11.800
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7 13.800 63% 4,300, +H:13.000
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L 7 10.600 7% 0.800, H:11.100
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7 100 | 72% | JOKA:12.800
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JL2909 | 7 13.600 800, £:13.400
#L1% (37 F %) $_JL2900 | 7 9.900
[CuL2902 | 7 7.500 [£:7.700
| JL2904 7 7,500 78% | 1:7.700
L2906 7 13,600 60% [%:16,200, £:13,300
L2910 7 13600 | 60% [£:16,200, £:13,300
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